Do Now: From last night's homework sheet #s 16 and 17

16.
$$\int (1 - x^2)^5 x \, dx$$

$$u = 1 - x^2$$

$$du = -2x dx$$

$$\frac{du}{-2} = x \, dx$$

$$-\frac{1}{2} \int u^5 \, du$$

$$-\frac{1}{2} \cdot \frac{u^4}{6} + C$$

$$-\frac{(1 - x^2)^6}{12} + C$$

18. $\int \sqrt[3]{1+x^2} \, x \, dx$

17.
$$\int \frac{x \, dx}{(x^2 + 1)^3}$$

$$u = x^2 + 1$$

$$du = 2x \, dx$$

$$\frac{1}{2} \int u^{-3} \, du$$

$$\frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} + c$$

$$-\frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} + c$$

Classwork: Continuing in last night's hw sheet...

$$du = x dx$$

$$du =$$

$$\int \sqrt[3]{1+x^{2}} x \, dx$$

$$u = 1+x^{2}$$

$$du = 2x \, dx$$

$$du = -5m\theta \, d\theta$$

$$\frac{1}{2} \int u^{\frac{1}{3}} \, du$$

$$\frac{1}{2} \int u^{\frac{1}{3}} + C$$

$$\frac{3}{8} (1+x^{2})^{\frac{1}{3}} + C$$

$$u = 1 + \frac{1}{2} \int u^{\frac{1}{3}} + C$$

$$\int \int \frac{e^{x^{2}}}{e^{x}} \, dt = \int e^{x^{2}} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int u^{\frac{1}{3}} + C$$

$$\int \int \frac{e^{x^{2}}}{e^{x^{2}}} \, dt = \int e^{x^{2}} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{2} \int \frac{1}{t^{2}} \, dt$$

$$u = 1 + \frac{1}{$$

22.
$$\int e^{x} \sin e^{x} dx$$

$$u = C^{x}$$

$$du = e^{x} dx$$

$$\int \sin u du$$

$$-\cos u + C$$

$$-\cos c^{x} + C$$

23.
$$\int \frac{dx}{\sqrt{2x+5}}$$

$$u = 2x+5$$

$$du = 2dx$$

$$du = dx$$

$$\int u^{-\frac{1}{2}} du$$

$$\int 2x+5 + C$$

24.
$$\int (x-3)^{5/2} dx$$

$$u = X-3$$

$$du = dX * when du = dx$$

$$you can just or the power
$$\int u^{5/2} du \qquad power$$

$$\frac{2}{7} u^{3/2} + C$$

$$\frac{2}{7} (X-3)^{7/3} + C$$$$

25.
$$\int \frac{dx}{(4x+3)^3}$$

$$u = 4x+3$$

$$du = 4dx$$

$$\frac{du}{4} = dx$$

$$\frac{1}{4} \int u^{-3} du$$

$$\frac{1}{4} \cdot \frac{u^{-2}}{-2} + C$$

$$-\frac{1}{8(4x+3)^2} + C$$

Try these:

27.
$$\int \frac{2x+3}{(x^2+3x+5)^4} dx$$
28.
$$\int e^{2x} dx$$
29.
$$\int \frac{dx}{\sqrt{x(1+\sqrt{x})^3}}$$
30.
$$\int x^4 \sin x^5 dx$$

Answers to the Try these:

	•	
2x+3	- 6 39	- dx
(27) $\int (x^2+3x+5)^9 dx$	(28) Se ^{2x} dx	
$u = x^{2} + 3x + 5$	u = 2x	$u = 1 + \sqrt{x}$
du = 2x + 3 dx	du = 2dx	$du = 2\sqrt{x} dx$
	du/2 = dx	$2du = \int x dx$
Ju ⁻⁹ du		
$\int u^{-4} du$ $\frac{u^{-3}}{3} + C$	2. Se u du	$-2\int u^{-3}du$
3	== «+C	2 11 ⁻²
- 1	12e"+C 12e2x+C	To the total of th
3(x2,3x+5)3	Admin	_ /
		- 12 + C
	1	- 1
		(1+5x)2-+C
3) S X4 sin X5 dx		
$\mathcal{L} = X^{5}$		٠٠ - ٠٠ شي. ٠٠ به در
$du = 5x^4 dx$		
$du/5 = x^4 dx$		
5 Sin u du		
-1 cosu+c		· , · · 2 .
	*	
-1 65 x5 + C	7	
5		
	· · · · · · · · · · · · · · · · · · ·	
	-	
		* *

Homework 02-01

Integration Practice Answer Key

TATISWET REY		
$0.5(1+3x)^5 3dx$	$(2) \int \frac{\chi}{(1+\chi^2)^3} d\chi \qquad (3)$) Se sino as 0 10
u = 112v	$u = 1 + \chi^2$	$u = \sin\theta$
$du = 3dx$ $\int u^{5} du$ $\int u^{6} + C$	$du = 2 \times dx$	du = cosodo
S u 5 du	du/2 = X dX	Se"du
646+C	$\frac{1}{2}\int u^{-3}du$	e"+C
16 (1+3x)6 +C	$\frac{1}{2} \int u^{-3} du$ $\frac{1}{2} \cdot \frac{u^{-2}}{2} + C$	e" + C e sin9 + C
	$-\frac{1}{4u^{2}} + C$ $-\frac{1}{4(1+x^{2})^{2}} + C$	
	- 1 4(1+x2)2 +C	
C X		
$A) \int \sqrt{1+x^2} dx$	G $\sqrt{1+x^2} \times dx$	6) Ssin 2xdx
$u = 1 + x^2$	u = 1+x2	u = 2x
du = 2x dx	du = 2xdx	du = 2dx
$\frac{du = 2x dx}{\frac{du}{2} = x dx}$		55 sin u du
550-16du 52-415+C.	きらいもかし	-605u +C
\$2 4b+c	5·3 43/2 +C	-10052x+C
$-\sqrt{1+x^2}+C$	$\frac{du/2 = x dx}{\frac{1}{2} \int u^{\frac{1}{2}} du}$ $\frac{1}{2} \int u^{\frac{1}{2}} du$ $\frac{1}{2} \cdot \frac{1}{3} u^{\frac{3}{2}} + C$ $\frac{1}{3} (1 + x^{2})^{\frac{3}{2}} + C$	2
2×		
$(7) \int \frac{e^{-2x}}{(1+e^{2x})^2} dx$	8) Se 3x dx	$(?)$ $\int \frac{e^{\lambda}}{x^2} dx$
u = /+e2x	u = 3 <	$u = \frac{1}{x}, x^{-1}$
$du = 2e^{2x} dx$	du = 3 dx	$du = -x^{-2}dxc$
$1/2 du = e^{2x} dx$	$\frac{1}{3}du = dx$	$du = -\frac{1}{x^2}dx$
	¿ Se"du	-Se"du
2) u-2 du	13 e4 + C	- e" + C
1 4-1	13 e3×+C	- e * + C
3 -1		
-1 -1	- 1.0	

2(1+e2x)

